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'EX. What is meant by "Extension of the Predicate?" Hlow înany kinds of
Xtension"' are there? Give an example of each.

fr 8. Cive an account of wvhat happened on the occasion of Mr. Lorey's journey
OmT London~ to Dover. Or, Describe the trial of Darnay as an eniigrant.

Pinote..în marking the answers to question 'eighit" special attention wiIl be
Padtu qualitY of composition.

GREEK.-X.

Ia. rn. ta 1 p. mn., Thuraday, 24 June, 1915.

bDecliîîe iii ail nunîbers: (1) the nounis o-r pSTLOJTTç, irXoîov, "e~; (2) the
djective ri, 7rtca 7i-&'; (3) the pronoun o'roç, aûrq rýVTo.

2. '"xllailn reduplication and explain its varlous formns. Write in detail the
liresent iildieati.e of E (1ý L.

3- Give the principal parts of âpù) Xapiciw, Xiû, UTrpaiTiC, OVoe(.

Distinlguish between the meanings and uses of ovTroç, eEZFLV, (' )SE

ti4. II"W is the relation of agency generally expressed in Greek ? What is
thea hief exception ? Illustrate your answer by writing in Greek: 1 was per-

dUled lîy eYPus, (and) I had been persuaded by Cyrus.

5 raslate into English: (1) o'Xtyot Koiv KýPov <ýÀoiiv 'aaEXtL l a-av).

,J401, <ù T0vÇ cT'PrpTL<ITaç wo"7rup itç MaXiV. (3) 7rv'rç yàp Oav,ýjuora&
op ol,. (4) IÀXà~ Idà 'roÙÇ0ç OU otc i'ç o

Tasae into English: ra-ra 8& rà Ogp o«cTcTÙTuJLOEEÛKVaT

into Greek: (1) The soliiers inarehed fivo stages througli a

tiïty (2) On the followng day,a esnrcm.(3Onti
tif. thY relllained two days on the plain. (4) Hie sent Cyrus many beau-

8"r) 'lasbite illto Greek : (1) The soldiers were no longer willillg to mnar I.-
d>e,4Yru5 eR1Ied together bis generals and spoke as follows. (3) Tiiese sol-

t-l i4bu drawn :p on the left (wing). (4) The others were hunting

GEOMETRY.-X.

9 to Il a. mi., Friday, 25 June, 1915.

A"'t'eO aides of a triangle are together greater than the third side.
%i. T .

ef th ua rg tog triangles which have their hypotenuses equal, and one
en qalt one aide of the other, are equal in ail respects.

Contrut 1right-angled triangle liaving given the hypotenuse and one

r h nediaas of n triangle are concurrent. Prove it.


